TR 184E

2 % ﬂ’ai%ilzi,% A4 SES
(BER) | #F A
— R B
Xz |[SBECC) | KiE(C) | FEEUKE| FiR =i BR
48] BEn 175 13.1 == BE BEixf -0 me
68|l Bh 27.7 20.8 =RE BE & -2 (BR) mR
8A| mEh 31.8 25.3 == BE Rk - me
108 =Y 26.3 21.9 == BE TR me
128] Bh 8.0 8.4 xE BE R mE
28| Bh 10.0 7.9 xE BE ER TSR B®R
EERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 9.6 0.5(0.5) 2 480
48] 78 10 <0.5 8 -
6A|l 15 9.0 <0.5 A 790
8A 1.6 8.4 0.7 2 —
10A] 73 9.0 <0.5 <1 170
128 74 10 <05 <1 -
2A] 73 11 0.5 <1 -
BEIER
N INESS & E ANEv0L] #E Bk ER T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE48H | 0.01LLF | 0.05LLF [ 0.01LLF | 0.0005LLF JERH
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SO00A i wme |1L,2-070[1,1-5500]2X-1,2-250] 1,1,1-F)Z00
PCB 5 bR A E 3 a4 | TFLY A h
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s JERE [0.02L0F] 0.002LLTF [0.004LLF| 0.02LLF | 0.04LLF 1LF
EH - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
48 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
104 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,1,2-R! ysooa|Frs4oonx|1,3-o40 — . o sed oo
uu:FaJ;] l;;J;fVJ TF;-.?,, uju/gp FISL | URVY  (FEARVALT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#4E]0.006 L F[0.03LLF | 0.01LLF |0.002LLF [0.006 L F| 0.003LLF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E]| 001LTF [001LLF [ 10LF 0.8LLF 1T |
I <0.001 <0.001 0.16 0.1 <0.1
4H] <0.001 <0.001 0.20 <0.1 <0.1
6H] <0.001 <0.001 0.09 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.15 <0.1 <0.1
12H] <0.001 <0.001 0.20 <0.1 <0.1
2H - - - - -
ZTDMIER
Nnnn| 2R | 2% @ | 2m% | soosus | TYRTAT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.24 0.008 - <0.005 - -
7y:] 0.29 0.017 - - - -
6A| - 0.18 0.003 - - - -
sA| - - - - <0.005 - -
108 - 0.22 0.006 - - - -
128 - 0.25 0.005 - - - -
2H - - - - - - -
Eie AR | VBT : e = S
7x/—) ey COoD =% s AE EREER
(mg/) | (mg/1) (mg/1) (mg/) | (mg/l) (BE) (uS/cm)
FiHEl - - 0.8 - - - 80
4 A - - 1.0 - - - 59
6H - - 0.5 = = = 71
8H - - 0.6 - = - 65
10AH - - 0.7 = = = 110
12H - - 0.8 - - - 91
2H — — 1.2 — — — 81




RIS

=4z | | (=3
. T B4 I E Balll
(HyR) | J® A
— g1 B
Xz |[SBECC) | KiE(C) | FEEUKE| FiR =i BR
48] Bh 17.0 13.0 == BE EHixf-th mR
68|l fBh 25.8 21.4 =E BE & -2 (BR) mR
s8A|l ®Bn 30.0 26.8 xE BE KR - h mE
10H| =Y 25.0 22.1 == BE SRR me
128| Bh 10.8 9.3 == BE iR me
28| Bh 12.7 8.1 RE BE e BR
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 10 0.6(0.7) 2 =
48] 78 10 <0.5 7 -
6A| 75 8.8 <0.5 <1 -
8A| 75 8.4 <05 1 -
10A] 75 8.9 0.7 <1 -
128 74 11 <05 <1 -
2A] 74 11 0.9 <1 -
BEEIER
N INESS & o) AEo0L] WE Bk ER T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF | FEHE/H | 001LLF | 00580 F [ 001 F | 0.0005LLF JERH
TiH{E - - - - - - =
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
oo " 1,2-5H0(11-CHnr|PR-1,2-C40l 1,1,1-,y4~0n
PCB 5 bR Ak 3 axs | TFLY Tl sy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s JERE [0.02L0F ] 0.002LLTF [0.004LLF| 0.02LLF | 0.04LLF 1LF
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1,2-ry%5 [ FUSBOA|FS400x]1,3-09A = . osen
uu:Fan IJa__VJ FLo  |pvacy| T34 | YRVY (FARLALT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E[0.006LLF[0.03LLF | 001LLF [0.002LLF[0.006LLF| 0.003LLF 0.02LLF
Ty - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UTF 0.8LLF 1LLF
—weEl - [ - - SN —
4H - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
Nonon| 22% | 28 | @ | 2@E# | soofus |TRTVT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.21 0.009 - - - -
4A - 0.17 0.023 - - - -
64 - 0.17 0.003 - - - -
8H - - - - - - -
10H - 0.23 0.006 - - - -
12H - 0.25 0.004 - - - -
2H - - - - - -
BiLH HAHERYE | VB ; = i S
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
F{E - - 0.8 = = = -
4R - - 1.1 - - - -
68 - - 0.5 - - - -
8A - - 0.6 - - - -
10R] - - 1.0 - - - -
128 - - 0.7 - - - -
28 - - 1.0 - - - -




RIS

EEE | A4 SES
iR
(BER) | #® A
— g8 B
Xz |[SBECC) | KiE(C) | FEEUKE| FiR =i BR
48] Bh 15.1 13.4 EdS BE EHixf-th mR
68|l fBh 25.8 20.5 =RE BE & -2 (BR) mR
8A| Eh 31.0 26.7 == BE Sk me
108 =Y 25.0 22.0 == BE Sk -0 me
128| Bh 12.1 10.5 == BE iR me
28| Bh 14.0 8.5 == BE ZER-H BR
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 10 0.5(0.6) 2 920
48] 77 10 <0.5 5 -
6A|l 74 8.8 0.8 <1 1700
8A|l 75 8.3 <05 1 -
10A] 73 8.6 <0.5 <1 130
12A8] 74 11 <05 <1 -
2A] 74 12 0.6 <1 -
BEEIER
NP INESS & E AEv0L] WE Bk ER T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EE] 0.01LLF | JE48H | 0.01LLF | 0.05LLF [ 0.01LLF | 0.0005LLF JERH
EfE] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
soanA .o .o [1,2-090811-250n| P X-1,2-P4a(1,1,1-kJsan
PCB |"gy | BEERR | nrgy | z3Ly | mzFLy T4y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s JERH [0.02LLF ] 0.002LLTF [0.004LLF| 0.02LLF | 0.04LLF 1LF
LHiE - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
48 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
104 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,1,2-R! ysooa|Frs4oonx|1,3-o40 — . o sed
uu:FaJ;] l;;J;fVJ TF;-.?,, uju/gp Froo5 L IRV (FARVALD
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF |0.002LLF [0.006 L F| 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.21 <0.1 <0.1
4H] <o0.001 <0.001 0.25 <0.1 <0.1
6A] <0.001 <0.001 0.14 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.20 <0.1 <0.1
12H] <0.001 <0.001 0.25 <0.1 <0.1
2H - - - - -
EDHIEE
N SR | 28 W | 2E® | sookus | TYRTAT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EoE] - 0.32 0.011 <0.04_| <0005 - -
4A - 0.42 0.021 <0.04 - - -
64 - 0.28 0.013 <0.04 - - -
8A - - - - <0.005 - -
10H - 0.26 0.006 <0.04 - - -
12H - 0.32 0.005 <0.04 - - -
2H - - - - - - -
BiLH HRHRRTE | VB s o =3 S
IT/=| ks coD el > AE EXizEX
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - - 0.9 - - - 79
4R - - 1.1 - - - 61
64 - - 1.3 - - - 73
8A - - 0.7 - - - 64
10H - - 0.6 - - - 84
12H - - 0.9 - - - 98
28 - — 1.0 — — — 93




RIS

TO4E | [l =3
2 % FFOX )44 Balll
(HyR) | J® A
— R B
Xz |[SBRCC) | KiE(C) | FEEUKE| FiR =i BR
48] BEn 14.6 13.1 == BE BEixf -0 me
68|l fBh 25.7 22.0 =RE BE & -2 (BR) mR
8A| Eh 29.8 26.5 == BE RE % me
108 =Y 25.3 22.2 == BE SRR me
128| Bh 13.8 13.6 =RE BE TR me
28| Bh 15.0 8.9 xE BE ER TSR B®R
EERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 10 0.5(0.5) 2 =
48] 77 10 <0.5 6 -
6A|l 15 9.3 <05 1 -
8A|l 715 8.3 <05 1 -
10A] 72 8.9 <0.5 <1 -
12A8] 72 10 0.6 <1 -
2A] 74 12 0.5 <1 -
BEEIER
N INESS & o) AEv0L] #E Bk ER T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF | FEHE/H | 001LLF | 00580 F [ 001 F | 0.0005LLF JERH
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - = = = =
oot we |1,2-908[11-24an|PR-1,2-240(1,1,1-~)~00
PCB |"gy | BEERR | nrgy | z3ly | mxFLy T4y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s JERE [0.02L0F ] 0.002LLTF [0.004LLF| 0.02LLF | 0.04LLF 1LF
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1,2-ry4 [ FUSBOA|FS400x)1,3-09A = . osen
uu:Fan IJa__VJ FLY |praxy FroT5 L IRV (FARVALD
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E[0.006LLF[0.03LLF | 001LLF [0.002LLF[0.006LLF| 0.003LLF 0.02LLF
Ty - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - SN —
4H - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
Nonon| 22% | 28 | @ | 2@E¢ | soofus |TRTVT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEEl - 0.36 0.015 - - - -
48[ - 0.36 0.020 - - - -
6A| - 0.32 0.024 - - - -
8H - - - - - - -
108 - 0.30 0.006 - - - -
128 - 0.44 0.008 - - - -
2H - - - - - -
BiLH BT [ R ; = i S
IT/=| xS coD el > AE ESizEX
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EEEl - = 0.8 = 0.01 = -
4R - - 1.0 - 0.01 -
64 - - 0.8 - <0.01 - -
8A - - 0.6 - - - -
10H - - 0.7 - <0.01 - -
12H - - 1.0 - <0.01 - -
28 - - 0.9 - - - -




